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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
LANGUAGE ARTS-Foreign language

What two Latin words are used in English to mean “in a class of its own”? 

ANSWER: sui generis (soo-ee gheh-neh-ris)

TOSSUP 2
LITERATURE-US literature

The Colossus and Other Poems was the only poetry collection published in her 30 years. Her posthumous work includes the poetry collection Ariel and the short story collection Johnny Panic and the Bible of Dreams. What wife of Ted Hughes used the pseudonym Victoria Lucas to write her novel The Bell-Jar? 

ANSWER: Sylvia Plath
TOSSUP 3
MISCELLANEOUS-Classic pop culture

In the ‘Vs.’ (versus) arcade version of this game, the dog could be shot if you wanted revenge after he laughed at your bad aim. Cheating was possible by pointing the Zapper at bright light instead of the TV screen. Packaged with Super Mario Brothers, what was this NES (spell it out) game that allowed you to shoot at clay pigeons or at birds? 


ANSWER: Duck Hunt
TOSSUP 4
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. How many months are in 17 decades?

ANSWER: 2040 months

TOSSUP 5
LITERATURE-World literature

A chapter in this novel, ‘Vanished into the Clouds,’ implies the death of the title character. The Uji chapters focus on Niou and Kaoru, descendants of the title character.  The title character has a son, Emperor Reizei, with the Lady Fujitsubo. Murasaki Shikibu is the author of what Japanese work of literature, often cited as the world’s first novel? 

ANSWER: The Tale of Genji or Genji Monogatari
TOSSUP 6
SOCIAL STUDIES-US history

A British officer at his execution quoted him saying, ‘It is the duty of every good officer to obey orders given him by his Commander-in-Chief.’ He volunteered to go behind enemy lines and report on William Howe’s army. What failed American spy may not have said, ‘I only regret that I have but one life to lose for my country?’ 


ANSWER: Nathan Hale
TOSSUP 7
SCIENCE-Physics

Since there is no perfect insulator, no process is truly this type.  A close approximation to it is the compression stroke of a diesel engine.  A reversible one is called isentropic.  Name this type of thermodynamic process that is the opposite of isothermal, is also known as isocaloric, and in which no heat is transferred to or from the working fluid.

ANSWER: adiabatic
TOSSUP 8
LITERATURE-Religion

The scholar Christoph Luxenberg argues this word refers to grapes or raisins and not womanlike beings. al-Ghazzali said they were 60 cubits tall and 7 cubits wide. These ‘voluptuous’ beings are also ‘lovely eyed’ and ‘of modest gaze.’ What beings that can renew their virginity are the companions of men who make it to Paradise in Islam? 

ANSWER: houri(s) or huriyah
TOSSUP 9
SOCIAL STUDIES-World history 

She was the last monarch to withhold Royal Assent to a bill passed by Parliament, and was the first monarch of a newly-proclaimed Kingdom of Great Britain. Since she had no surviving children, rule passed from her to her second cousin, the Elector of Hannover, who became George I. What queen ruled England between 1702 and 1714? 


ANSWER: Queen Anne
TOSSUP 10
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. How many hours is 61,200 seconds, given that there are 3600 seconds in an hour?

ANSWER: 17 hours

TOSSUP 11
SOCIAL STUDIES-Economics

It includes the earnest money paid when making an offer on a home. If it is below 20% of the purchase price of a primary residence, private insurance is required by most banks before they will make a loan. What amount is the difference between the price of the home and the mortgage amount, and is paid at closing? 


ANSWER: down payment

TOSSUP 12
SCIENCE-Biology

In British English, the red-eared slider is called one. A member of the Malaclemys genus, this type of turtle is found from Cape Cod to Corpus Christi and is known as a diamondback.  Usually found in brackish swamps, its shell is usually brown or gray.  Name this state reptile of Maryland.

ANSWER: terrapin
TOSSUP 13
FINE ARTS-Dance

The penché variety of this ballet position resembles a standing-up split. The allongé variety is not quite as extreme. It is similar to an attitude, but in this move, the knee is held straight. In what ballet move is the body’s weight is on one leg, and the other leg is held out behind the body? 


ANSWER: arabesque
TOSSUP 14
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is 72 percent of 1200?

ANSWER: 864
TOSSUP 15
SCIENCE-Biology

Stephen King has this disease that will eventually make him blind.  Name this eye disease in which the namesake central area of the retina thins, atrophies, sometimes bleeds, and causes central vision loss.

ANSWER: macular degeneration
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LITERATURE-World literature

This poet wrote nine volumes of poetry; the only completed poem is a hymn to Aphrodite. Plato supposedly called this poet the 10th muse. One tradition holds that her love for Phaon (fay-awn) led her to commit suicide; loving a man runs counter to other traditions about what poet from the island of Lesbos? 

ANSWER: Sappho
BONUS 16
MISCELLANEOUS-Education

Answer these questions about standardized tests given to high schoolers. 

A.
It has nine sections, including ‘Assembling Objects,’ and is used by the military to help place people in an assignment.


ANSWER: ASVAB or Armed Services Vocational Aptitude Battery
B.
This battery of five tests is administered to those who have dropped out of high school.


ANSWER: GED or General Educational Development or General Equivalency Diploma
C.
The 10th series of this test, named for the West Coast school that developed it, is gradually being replaced by No Child Left Behind-mandated state tests. 


ANSWER: Stanford Achievement Test 10 or SAT 10

D.
This organization administers the GRE, SAT, and AP tests.


ANSWER: Educational Testing Service or ETS
TOSSUP 17
MATH-Geometry

THIS IS A COMPUTATION QUESTION. What is the height of a trapezoid of base lengths 10 feet and 18 feet and area 168 square feet, given that you can find the height by dividing the area by the average of the bases?

ANSWER: 12 feet
BONUS 17
FINE ARTS-Opera

Given an opera, name the composer.

A.
The Magic Flute.

ANSWER: Wolfgang Amadeus Mozart
B.
Carmen.


ANSWER: Georges Bizet (bee-ZAY)

C.
The Flying Dutchman.
ANSWER: Richard Wagner
D.
Einstein on the Beach.

ANSWER: Philip Glass
TOSSUP 18
LITERATURE-US literature

This novel is set between 1976 and 1979 in the aftermath of a pandemic. A girl named Ruth was among the affected but still living, but most of the infected became vampires due to the plague. Robert Neville appears to be the last man on earth in what science-fiction novel by Richard Matheson that was adapted to film in late 2007? 

ANSWER: I Am Legend
BONUS 18
SCIENCE-Biology

Answer these questions about differences between animal and plant cells:

A.
Animal cells lack what extracellular structure that provides support for plant cells?

ANSWER:
cell wall(s)

B.
In plant cells, which fluid-filled organelle may account for half the volume of the cell, while it is generally absent in animal cells?

ANSWER:
vacuole [VAK-yoo-ohl]

C.
Animal cells lack what organelles in which photosynthesis takes place?

ANSWER:
chloroplast(s)

D.
What process of cytoplasmic division takes place differently in animals and plants?

ANSWER:
cytokinesis [SYE-toh-kih-NEE-sis]

TOSSUP 19
SOCIAL STUDIES-World history

His reign was marked by the Golden Law, which abolished slavery. Despite being one of the winners of the War of the Triple Alliance, the high cost lowered his popularity. He was ultimately removed in a coup in 1889. Assuming the throne at age five, who was the Emperor of Brasil between 1831 and 1889? 


ANSWER: Pedro II of Brazil

BONUS 19
LITERATURE-US literature

Name these novels written in the 1950’s.

A.
Sloan Wilson penned this 1955 novel about the emptiness suffered by Tom Rath in the “keeping up with the Joneses” lifestyle of the fifties.

ANSWER: The Man in the Gray Flannel Suit

B.
Gilmanton, New Hampshire is the inspiration for the setting of this 1956 novel by Grace Metallious that features Constance MacKenzie.

ANSWER: Peyton Place

C.
Sal Paradise is a character in this seminal work of the Beat generation by Jack Kerouac.

ANSWER: On the Road

D.
Ralph Ellison penned this novel in 1952; its narrator has no name.

ANSWER: Invisible Man

TOSSUP 20
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the next prime number after 293?

ANSWER: 307
BONUS 20
SOCIAL STUDIES-World history

Given an ancient ruler, name the kingdom or city he or she ruled. 

A.
Hammurabi.



ANSWER: Babylon or Babylonia (technically the Old Babylonian Empire or First Babylonian Empire)

B.
Leonidas.



ANSWER: Sparta
C.
Croesus (KREE-sus)


ANSWER: Lydia
D.
Mithridates (mih-thrih-DAH_teez)
ANSWER: Pontus
TOSSUP 21
SCIENCE-Astronomy

For Earth, it would be 0.88 centimeters, for the Sun, it would be 2.9 kilometers.  It is equal to two times the gravitational constant times mass divided by the speed of light squared.  An object of a given mass that is smaller than it is a black hole.  Name this term for the distance from the center of a black hole to its event horizon.

ANSWER: Schwarzschild radius
BONUS 21
MATH-Geometry

THIS IS A COMPUTATION QUESTION:  Consider the equation x2 + 8x + y2 – 14y = 35.  Now:

A.
What is the shape of the graph?


ANSWER:  circle
B.
What is the center of this circle?


ANSWER:  (-4, 7)
C.
What is the radius?


ANSWER:  10
D.
How far is the center of the circle from the origin?  


ANSWER:   square root of 65 units

TOSSUP 22
SOCIAL STUDIES-Geography 

This city celebrated its 1,500th anniversary in May 1982. Its tourist landmarks include the October Palace, the Golden Gate, and a one square mile open-air Museum of Folk Architecture. Kreschatyk Street and Independence Square are located at its center. What city, located on the Dnieper River, is the capital of Ukraine? 


ANSWER: Kiev, Ukraine

BONUS 22
SCIENCE-Chemistry

What chemistry term beginning with the letter "A" refers to . . .

A.
Molecules with carbon-carbon double bonds?

ANSWER:
alkene(s) [AL-keens]

B.
Different forms of the same element in the same state?

ANSWER:
allotrope(s)

C.
A mixture of metals?

ANSWER:
alloy(s)

D.
Substances that can act as either acids or bases?

ANSWER:
amphoteric [accept amphiprotic]

TOSSUP 23
MISCELLANEOUS-Driver’s education

William Potts invented the first four-way, three-color one. In the 1990s, light-emitting diodes began being used to save lighting costs. This first of these, outside the British Parliament, required a policeman to its red and green arms and to light red and green lanterns. What are these signals seen at intersections?


ANSWER: traffic light(s) (accept equivalents)

BONUS 23
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION: Measurements…

A.
Joseph Lagrange helped develop what new system of measurement in 1789 which only uses powers of 10 in all computations?


ANSWER:  the metric system

B.
If a 5 kilometer run is 3.1 miles then how many miles are in one kilometer?


ANSWER:  .62
C.
If baby Trent was 20” at birth about how many centimeters would that be?


ANSWER:  accept either of: 50  or  51 centimeters (actually 50.8 cm)

D.
A pint weighs one pound and a liter equals 1.06 quarts.  How many ounces are in a 2 liter bottle to the nearest ounce?


ANSWER:  68
TOSSUP 24
LANGUAGE ARTS-Grammar

What name is given to the present participle of a verb that is used as a noun?

ANSWER: gerund(s)

BONUS 24
LITERATURE-World literature

Given a work by an Italian author, name the author.

A.
Summa Theologica

ANSWER: Thomas Aquinas
B.
The Decameron

ANSWER: Giovanni Boccaccio
C.
Divine Comedy

ANSWER: Dante Alighieri (either name works)

D.
The Adventures of Pinocchio
ANSWER: Carlo Collodi

TOSSUP 25
SCIENCE-Chemistry

It is also known as Gillespie-Nyholm theory and uses steric numbers and expanded Lewis structures.  It explains why methane is tetrahedral and why ammonia is trigonal pyramidal.  Name this theory that is used to represent shapes of molecules and is often known by a five-letter acronym.

ANSWER: VSEPR (valence shell electron pair repulsion)

BONUS 25
SOCIAL STUDIES-US history

Identify these Native Americans that opposed early American expansion.

A.
He attempted to found a confederacy of Native Americans, but his brother, known as ‘The Prophet,’ was defeated at Tippecanoe.


ANSWER: Tecumseh
B.
This leader of the Sauk and Fox was pushed west of the Mississippi after losing a war in 1832.


ANSWER: Black Hawk or Makataimeshekiakiak 
C.
He fought a war against New England expansion in 1676 and 1677.


ANSWER: King Philip or Metacomet
D.
He lost the Battle of Fallen Timbers and later advocated peace with the United States. 


ANSWER: Little Turtle or Mishikinakawa
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
MISCELLANEOUS-Current events

He was president of Texas A&M following the September 11th attacks. He was in the Iraq Study Group, though he resigned from the panel after being nominated for his current position. Confirmed in December 2006, what man now has an office in the world's largest office building after replacing Donald Rumsfeld as Secretary of Defense?

ANSWER: Robert Gates
TOSSUP 27
SOCIAL STUDIES-US history

He is associated with a prison furlough program from which murderer Willie Horton escaped to commit more crimes and for a ride in an M1 Abrams tank. He was the second Greek-American to become governor of any state and was the longest-serving governor in Massachusetts’ history. Who lost the 1988 Presidential election to George H.W. Bush? 


ANSWER: Mike Dukakis
TOSSUP 28
LITERATURE-World literature

This author of Roxana: The Fortunate Mistress wrote a historical novel about the plague that struck London in 1665, A Journal of the Plague Year. What author of Moll Flanders took the real-life story of Alexander Selkirk, who spent many years on a deserted tropical island, to write Robinson Crusoe? 

ANSWER: Daniel Defoe
TOSSUP 29
SOCIAL STUDIES-Civics

A predecessor to this government agency was formed in 1862 to help fund the Civil War. It has four parts: Large & Mid-Size Business, Small Business/Self-Employed, Wage and Investment, and Tax-Exempt & Government Entities. What bureau of the Department of the Treasury collects taxes? 

ANSWER: Internal Revenue Service or IRS
TOSSUP 30
SCIENCE-Biology

In 2002, Pfizer allowed anyone to use the glycoside P57 that its flesh contains; should it be proven to actually work, great wealth will go to the San tribesmen of the Kalahari desert. In 2004, 60 Minutes aired a report about its effectiveness. TrimSpa’s X32 is among the many weight loss products containing ingredients from what cactus-like plant? 


ANSWER: hoodia
TOSSUP 31
MATH-Geometry

THIS IS A COMPUTATION QUESTION. Sine squared theta plus cosine squared theta equals what?

ANSWER: one
TOSSUP 32
LITERATURE-US literature

This poet’s marriage to W.E.B. Du Bois’s daughter collapsed after two months. When he died in 1946, he was working on a musical, St. Louis Woman. After the poor reception of ‘The Black Christ,’ his writing output slowed. What poet wrote Color, Copper Sun, and The Ballad of the Brown Girl? 

ANSWER: Countee Cullen
TOSSUP 33
SCIENCE-Meteorology

It is preceded by ionized air known as a stepped leader. Volcanic eruptions and forest fires can cause it. Its positive variety can strike without warning. Other varieties include elves, sprites, rocket, dry, bead, and ball. What weather phenomenon heats nearby air to 18,000 degrees Fahrenheit, causing a sudden loud noise known as thunder? 


ANSWER: lightning
TOSSUP 34
FINE ARTS-Painting

During the 1890’s, this artist of Portrait of Hans Jaeger and The Dance of Life worked on a series called the Frieze of Life. Works such as Ashes, Women in Three Stages, Death in the Sickroom, and a Madonna notable for also being a nude were part of his series. What Norwegian artist also painted The Scream? 

ANSWER: Edvard Munch
TOSSUP 35
MATH-Computer science

Reversed engineered from Security bulletin MS04-011, it worked by spreading though TCP port 445 without the user’s knowledge. Once it had spread, it caused a buffer overflow in the Local Security Authority Subsystem Service. Name this computer worm that affected Windows XP systems in April 2004.

ANSWER: Sasser

TOSSUP 36
SCIENCE-Biology

Greg Oden had this surgical procedure performed on him in July 2007. In the 1970s millions were performed a year for reasons as minor as strep throat. It is often accompanied by removal of the adenoids. Name this surgery that removes lymphoid tissue from the throat and is associated with eating ice cream afterward.

ANSWER: tonsillectomy
TOSSUP 37
LITERATURE-World literature

She used the Deplorable Word to freeze her homeworld of Charn. Diggory Kirke and Edmund Pevensie were at first both captivated by her beauty. She escaped Charn and chased Diggory through the Wood Between the Worlds and our world’s London. Who gave eternal winter to Narnia by the start of The Lion, The Witch, & the Wardrobe? 

ANSWER: Jadis or the White Witch
TOSSUP 38
LANGUAGE ARTS-Vocabulary

To a geographer, it is a United Kingdom Crown Possession whose capital is Saint Helier. It is the name of a concrete barrier, developed at the Stevens Institute of Technology, used to separate lanes of traffic or to stop car bombs from hitting a target. What is this word, also a slang term for the state located east of Pennsylvania?


ANSWER: jersey or Jersey

TOSSUP 39
SOCIAL STUDIES-Geography

Major bodies of water in this country include Lake Biwa and the Seto Inland Sea. The longest river is the Shinano. Plains such as the Kinki and Kanto contain most of its 127 million people. Divided into 47 prefectures, what country consists of four main islands and includes cities such as Osaka, Kyoto, and the capital, Tokyo? 

ANSWER: Japan
TOSSUP 40
MATH-Algebra

THIS IS A COMPUTATION QUESTION. What is i to the 556th power?

ANSWER: 1
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LITERATURE-US literature

He flies a Navy hydroplane, performs unique surgery, testifies how he shot someone, flies a Royal Air Force Plane into an ammunition dump, and faces a firing squad. His nagging wife says he drives too fast, and wants him to get puppy biscuits. What title character of a James Thurber short story is taken to flights of fancy? 

ANSWER: Walter Mitty
BONUS 41
SOCIAL STUDIES-Economics

Name these economists.

A.
In The General Theory of Employment, Interest, and Money, who advocated governments enter deficit spending during recessions?


ANSWER: John Maynard Keynes (KANES)

B.
The 1976 Nobel laureate, what economist associated with monetarianism died in November 2006? 


ANSWER: Milton Friedman
C.
What economist created the theory of comparative advantage with respect to international trade?


ANSWER: David Ricardo
D.
What economist is associated with a curve that states that too-high tax rates lead to a decrease in revenues collected?


ANSWER: Arthur Laffer
TOSSUP 42
SCIENCE-Chemistry

It was discovered in 1817 by Johan Arfwedson and is named after the Greek for stone.  It is the least dense solid element and is used in rechargeable batteries and antidepressant and bipolar medication.  Name this lightest metal of atomic mass 6.941 that has atomic number three and chemical symbol Li.

ANSWER: lithium
BONUS 42
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION:  Consider the three numbers A equals 66, B equals 110, and C equals 231.  Now:

A.
Give the prime factorization of C.


ANSWER:  3x7x11
B.
Find the greatest common factor of A, B, and C.


ANSWER:  11
C.
Find the product of A, B, and C.


ANSWER:  1,677,060
D.
Give the prime factorization for the product of all three numbers.


ANSWER:  2x2x3x3x5x7x11x11x11  or  22x32x5x7x113
TOSSUP 43
MISCELLANEOUS-Pop culture

She became the Senior Quidditch Correspondent for the Daily Prophet after playing for the Holyhead Harpies. She started dating Michael Corner at the Yule Ball. When she broke up with Michael, she started dating Dean Thomas.  She outplayed Cho Chang in the Quidditch final, during which she replaced Harry as Seeker. Who eventually marries Harry Potter and is the sister of Ron Weasley? 


ANSWER: Ginevra or Ginny Weasley (do not accept or prompt on “Weasley” by itself)

BONUS 43
LITERATURE-World literature

Name these fictional settings from world literature.

A.
Thomas Hardy’s novels often take place in this fictional English county.

ANSWER: Wessex

B.
In C.S. Lewis works, this land can be reached through a wardrobe.

ANSWER: Narnia

C.
In a Samuel Taylor Coleridge poem, a stately pleasure dome was constructed here.

ANSWER: Xanadu

D.
Children past and present play together in this house in works by Lucy Boston.

ANSWER: Green Knowe

TOSSUP 44
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x.  x squared minus 16x plus 63 equals zero.

ANSWER: x equals seven and nine (can be said in either order)

BONUS 44
LITERATURE-US literature

Name the authors of these American poems.

A.
“Casey at the Bat”

ANSWER: Ernest Thayer
B.
“Richard Cory”

ANSWER: Edward Arlington Robinson
C.
“Concord Hymn”

ANSWER: Ralph Waldo Emerson
D.
“Old Ironsides”

ANSWER: Oliver Wendell Holmes
TOSSUP 45
SOCIAL STUDIES-US history

THE YEAR IS NOT NEEDED IN YOUR ANSWER. Before it struck, Isaac Cline, the Weather Bureau section chief, claims he warned people about it. It is still the deadliest natural disaster in American history, killing 8,000 people. What disaster struck the Texas coast on September 8, 1900? 


ANSWER: Galveston hurricane (accept similar words in place of ‘hurricane’)
BONUS 45
LANGUAGE ARTS-Vocabulary

Identify these English words of African origin.

A.
This word comes from Afrikaans words meaning ‘ground pig.’


ANSWER: aardvark
B.
This word, from a Fula word meaning ‘medicine man,’ was used by Austin Powers and Jim Morrison to refer to their vitality. 


ANSWER: mojo
C.
This six-letter word, a nickname for the peanut, comes from the Kimbundu word for ‘peanut.’


ANSWER: goober
D.
This four-letter word comes from an Afrikaans word meaning ‘migrate’ or ‘to load a vehicle.’


ANSWER: trek
TOSSUP 46
MATH-Geometry

What type of conic section is x squared over 25 minus y squared over 169 = 1?

ANSWER: hyperbola
BONUS 46
SCIENCE-Famous scientists

Name these winners of the Nobel Prize in Physics:

A.
He won the 1921 Nobel "for his services to theoretical physics."

ANSWER:
Albert Einstein
B.
Two men shared the 1978 prize for their discovery of cosmic background radiation. Name either.

ANSWER:
Arno (Allan) Penzias [PEN-zee-us] or Robert (Woodrow) Wilson
C.
This man won in 1934 for his discovery of the neutron.

ANSWER:
James Chadwick
D.
This man, the youngest-ever winner of the prize, shared it with his father for their work on X-ray diffraction. The last name will suffice.

ANSWER:
William (Lawrence) Bragg
TOSSUP 47
LITERATURE-Mythology

Antiope (an-tie-oh-pee), a princess of this people, was kidnapped by Theseus, prompting them to attack Athens in retaliation. Once a year, they met up with the Gargarean tribe. Among the resulting children, the Gargareans kept the boys. Hippolyte (hih-paw-lih-tuh) was the queen of what tribe of women warriors? 

ANSWER: Amazon(s) 

BONUS 47
MATH-Algebra

Identify the special type of function described:

A.
F of x equals 7 for all values of x.


ANSWER:  constant function

B.
F of x equals the closest integer less than or equal to x.  


ANSWER:  greatest integer  or  step  or  floor function

C.
F of x equals x for all values of x.


ANSWER:  identity function

D.
F of x equals x if x is positive or zero and f of x equals negative x if x is less than zero.


ANSWER:  absolute value or  piecewise function

TOSSUP 48
SOCIAL STUDIES-World history

This disparate group’s struggle ended with the election of Violeta Chamorro. A scandal erupted in the Reagan administration when they received money from arms sales to Iran. Who were these opponents of the Sandanista government of Nicaragua?


ANSWER: Contra(s)

BONUS 48
SCIENCE-Biology

Answer these questions about Mendelian inheritance:

A.
In what form of inheritance does a heterozygote exhibit a phenotype different from that of either parent? An example is a plant with red flowers and one with white flowers giving rise to a plant with pink flowers.

ANSWER:
incomplete dominance
B.
Human blood groups are an example of what phenomenon, in which two or more alleles are both dominant to a single recessive allele?

ANSWER:
codominance
C.
What law of Mendelian genetics holds that genes on different chromosomes are inherited separately?
ANSWER:
law of independent assortment
D.
For reasons that are not entirely clear, Mendel did not observe what phenomenon, in which two alleles located near one another on the same chromosome do tend to be inherited together?

ANSWER:
genetic linkage [accept word forms]

TOSSUP 49
FINE ARTS-Painting

It was discovered by four boys in 1940, but was closed to the public in 1963 due to the damage caused by carbon dioxide from its visitors. Its Great Hall of the Bulls contains a 17-foot-long bull, one of its estimated 2,000 paintings. Its ‘The Crossed Bison’ demonstrates skill with perspective not seen again for another 16,000 years. What are these cave paintings in southwestern France?


ANSWER: Lascaux (lah-skoh) cave paintings

BONUS 49
SOCIAL STUDIES-US history

Identify these laws passed after 1945.

A.
This act outlawed literacy tests to gain the franchise, and was renewed for another 25 years in 2006. 

ANSWER: Voting Rights Act of 1965

B.
This act was signed into law on October 26, 2001, in response to 9/11. 

ANSWER: USA PATRIOT Act

C.
This act, passed in 1990, required public establishments to allow guide dogs for blind people, among other things.

ANSWER: Americans with Disabilities Act or ADA
D.
This act, passed over Truman’s veto in 1947, allowed states to implement right-to-work laws. 

ANSWER: Taft-Hartley Act

TOSSUP 50
SCIENCE-Physics

Depending on the type, it can require twenty-six, eleven, or ten space-time dimensions.  So far, it has no predictive power and may not be falsifiable.  Forms of it include bosonic, M-theory, and super.  Name this physics model that uses vibrating one-dimensional objects instead of zero-dimensional point particles and is a possible theory of everything.

ANSWER: string theory

BONUS 50
MISCELLANEOUS-Classic pop culture

Identify these 1980s television shows.

A.
This show focused on the six members of the Keaton family.


ANSWER: Family Ties
B.
David Hasselhoff and a talking car. 


ANSWER: Knight Rider
C.
It was the first syndicated program distributed by satellite, Mary Hart has been a co-anchor since 1982. 


ANSWER: Entertainment Tonight or ET
D.
This Saturday night show started airing on Univision (oo-nee-vee-see-OHN) in 1986, but has aired in Chile since 1962. 


ANSWER: Sábado Gigante
END OF MATCH

Spare questions
TOSSUP 51
SCIENCE-Famous scientists

In 1741, he founded the Uppasala Astronomical Observatory. Fellow Swede Carolus Linnaeus reversed the scale he proposed to what is now used today. 100 was the freezing point of water and 0 was the boiling point of water on what man’s thermometer? 


ANSWER: Anders Celsius (DO NOT accept ‘Centigrade’)
BONUS 51
LANGUAGE ARTS-Foreign language

Identify these European languages.

A.
This language has only 10 million speakers in Europe, but it is nonetheless the sixth most spoken language in the world – most speakers live in South America. 


ANSWER: Portuguese
B.
The uncharitable would say Flemish is just a dialect of this language, spoken by 31 million people.


ANSWER: Dutch

C.
After Russian, it is the most-spoken Slavic language.


ANSWER: Polish
D.
This language is closely related to Estonian, and is notable for having fifteen cases. 


ANSWER: Finnish
TOSSUP 52
FINE ARTS-Classical music

Its composer was inspired by a book of Chinese poetry, The Chinese Flute, which had recently been translated into German. Written between 1908 and 1909, its composer was reluctant to call it his Ninth Symphony; on the other hand, it was a then-novel mixing of song cycle and symphony. What is this work for a tenor, an alto, and an orchestra by Gustav Mahler? 


ANSWER: Das Lied von der Erde or The Song of the Earth
BONUS 52
SOCIAL STUDIES-Geography

Answer the following about Missouri most distinctive feature, the boot heel.

A. 
This is the number of counties that make up the boot heel


ANSWER: 3
B. 
This city in Dunklin County with a population of a little over 11,000 people is the largest city in the boot heel


ANSWER: Kennett

C. 
The lowest point in the state of Missouri is along this river near the city Arbyrd.


ANSWER: St. Francis River

D. 
Running though most of the boot heel is this Fault line named for one of the three counties that make up the boot heel.


ANSWER: New Madrid Fault line

TOSSUP 53
MISCELLANEOUS-Classic pop culture

In the play and movie, he says the line, “I know he’s a Democrat but he’s a human being too!” That sentiment, and being close to FDR, would have never occurred in Harold Gray’s comic strip. Despite Forbes magazine naming him the richest fictional character, he occasionally raids his adopted daughter’s piggy bank. Oliver is the first name of what wealthy philanthropist and adopted father of Little Orphan Annie? 

ANSWER: Daddy Warbucks
BONUS 53
LITERATURE-Religion 

Answer these questions about the Qur’an. 

A.
Which angel revealed the Qur’an to Muhammad?


ANSWER: Gabriel or Jibreel
B.
What is the name of the 114 chapters of the Qur’an?


ANSWER: surah
C.
In addition to the Qur’an, what collected sayings of the Prophet Muhammad are also regarded as sacred?


ANSWER: hadith
D.
What title that means ‘guardian’ is earned by someone who has memorized the entire Qur’an?


ANSWER: hafiz
TOSSUP 54
SOCIAL STUDIES-World history

His tomb, KV62, was small for a ruler, so it seems he died accidentally from a broken leg and was not murdered. In the third year of his reign, at age eleven, worship of the old pantheon was restored. What pharaoh was unremarkable save for the 1922 discovery by Howard Carter of his nearly-intact tomb? 


ANSWER: King Tut or Tutankhamon (or Tutankhamun)
BONUS 54
FINE ARTS-Visual fine arts

Answer these questions about an 1871 painting. 

A.
James McNeill Whistler’s most famous painting is a portrait of what woman?


ANSWER: his mother or Anna McNeill Whistler
B.
The technical title of Whistler’s Mother is an arrangement in what two colors?


ANSWER: grey and black (either order is acceptable)

C.
Name the three Latin words Whistler held as a motto – they mean ‘art for art’s sake’ and appear around Leo the lion in the MGM logo.


ANSWER: ars gratia artis
D.
What Scottish essayist agreed to sit for a similar painting called, Arrangement in Grey and Black, No. 2? 


ANSWER: Thomas Carlyle 

TOSSUP 55
LITERATURE-Philosophy 

He sought to combine the Talmud and early medieval writing into a single code of law in his Mishneh Torah. He sought to integrate Aristotle’s philosophy with the Torah in his Guide for the Perplexed. His 13 principles of faith are accepted as absolute by Orthodox Jews. Who is this 12th century Jewish philosopher? 

ANSWER: Moses Maimonides (MIGH-maw-nih-deez) or Moshe (Moses) ben Maimon
BONUS 55
MATH-Geometry

THIS IS A COMPUTATION QUESTION:  A regular hexagon ABCDEF is inscribed in a circle with radius 10 inches.  Now:

A.  
Find the perimeter of the hexagon.


ANSWER:  60 inches

B.  
Find the area of the hexagon.


ANSWER:  150 squre root of 3 in2
C.  
Find the length of minor arc ABC.


ANSWER:  20pi/3 inches

D.  
Use 3.14 for the value of pi and 1.7 as the square root of 3 and find the difference in the areas of the two figures.


ANSWER:  59 in2
TOSSUP 56
LANGUAGE ARTS-Vocabulary

This word starting with ‘P’ can be used as a verb meaning to attack for booty or plunder, or a noun referring to an animal hunted for food. What word’s homophone means to offer petition to a divine entity? 


ANSWER: prey 

BONUS 56
SCIENCE-Physics 

Answer these questions about particle phyiscs.

A.
These gauge bosons are responsible for electromagnetic radiation, including light. 


ANSWER: photon(s)

B.
These particles travel just under the speed of light and were shown to a have a mass in 1999.


ANSWER: neutrino(s)

C.
Neutrons and protons are part of what class of particle that is a type of hadron?


ANSWER: baryon(s)
D.
Electrons are one member of what class of particle that has spin ½? 


ANSWER: lepton(s)

TOSSUP 57
MATH-Arithmetic

With a value of just under seventy factorial, it is officially known by its short scale name of ten duotrigintillion (doo-oh-TRY-jin-till-yun).  However, its commonly known name was coined by Milton Sirotta, the nine-year-old nephew of Edward Kasner.  Name this term for the number one followed by one hundred zeros.


ANSWER: googol
BONUS 57
MISCELLANEOUS-Current events

Answer these questions about news stories of March 2008.

A.
 What New York governor admitted that he was involved in a prostitution ring?


ANSWER: Eliot Spitzer
B.
The Swedish Foreign Minister said what entity could obtain European Union membership, despite not being part of the United Nations?


ANSWER: Kosovo
C.
What former Olympic gold medalist began a six-month jail term for her perjury related to her past steroid use?


ANSWER: Marion Jones
D.
What founder of Berkshire Hathaway was named the richest man in the world by Forbes? 


ANSWER: Warren Buffett
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